SM4EE HMOFBETE

FH45F sH 1HRE

IENEEEEIEEEGE EET L o] N smE
8 115 hiREeHm (881 8S) B G- BB S
14:00 MREDICENDN D T RYEREES NARET AEREE
2 | k| 14:00 EHERPERREEZKS «PIE PALYAR—L | LASE
4 | K| 14:00| \EEBREDIRESHESZEBES AT LARE
5| 4 19:00 | I ZETFDLMEK ) —5 —BEED | (T LB - (ZE0T)
19:30 BE==@ R—L PR
on | ATEEES BN XHGRNSBSA e
6| -]10:30 B BDDDT TS 1 F DI | A= NHEREFE B D FL )
12| & | 19:00 EZ2EZE=0 A= HEEE
19| 4 | 19:30| hEEREE & D3RS < IEH R—L ERISE., FERHE
20| +12:00 MREDICENUN I T RS ~1800 & |#EPREEY | KERISE
29| 7 14:00 1%1%@{%%%%%‘1&26%%%% i T AR E
19:00 {RE=E A—v TR
25| A | 19:00 BB8HRBEEB IR VD R—L FRISE, BaR%
26| 4 | 18:30 AHEXRZED Sk
27 1+113:30 0w —FAITRH2022 NARET
9 11k LhiREHm (981 89) B A BB
19:00 WIEF=5Z HIHE= TR
8 | K |10:00|hiEE= —MIRER] Y
9 | & | 10:00|MiE=E —RE” Hh
10| | 18:00| L%5im $rak EEAIRY [ kEHAE
12| A | 10:00 hEs —ARERT Gz
13| k| 10:00| hEsE= —RER™ B
15| & |BBRIEXDET (655) G BRI IR
16| 4 | 18:30| AHEXZFO AT
28 K| T:30 R ELZEIEE BARFEM ERCYE: 3 R4 e
30| 4 |[LhFREE (1 0B 185) ERCE: Rt eS
10| 8| H | 19:00 HEXLE==E R—L e B
7|4 19:30 EEE0 R—L PR
8| | 800 R&EREL (BE, R-08mBITO V] =+ =847 ERGRE:3t
9| H| 900 MERAN=YITRY : T— M=)l
10| A | 14:00| ¥ msiibXEREHESR L <F R ARAES
18:30| A}ERZFQ AT
14| & | 19:00 | IFEF DMK —5 —BGEEQ AT L (ZEHT)
19:30 EEEZE2=@D A—v EE R
15| | 8:00|R&:EHEEL (b, #KiBJov D) kH AR SRRt

FEHESs —ERN (FELEEB—TATLETHRZE )
YUH FRT10B~ Pk
Ptk THE~ FHE




